Name ______________________________

Number and Operations in Base Ten (4.NBT.2)

Two pairs of numbers are shown. The symbol needed to compare the two numbers is missing from each box. 
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Which two symbols should be placed into the boxes to correctly compare the two pairs of numbers?

	Statement
	Yes or No
	Explain your thinking

	A. < , =





	
	


	B. = , =





	
	


	C. = , >




	
	


	D. < , >
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572,897 O 500,000 + 70,000 + 2,000 + 800 + 90 + 7
610,201 [ six hundred one thousand two hundred ten




